














*The cost of capital is a weighted average costs of
flnancing sources, I.e., debt and equity.

*Typically the largest $ single issue in Rate Case

*An example: A company is financed by 50% debt
and 50% equity. Debt interest is 7.0% and the cost
of equity Is 10.0%. The overall cost of capital Is:

Debt: 7.0% x 50% = 3.5%
Equity: 10.0% X 50% = 5.0%
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An appropriate financial return Is
predicated on the risk of an investment.

Regulated public utilities are among the least
risky of all potential investments. They require
returns less than “average” for the market.

*Their revenue and earnings streams are
more assured

Thelr dividends are more secure




Equity shares similar risks as debt, e.q.

» As leverage increases, risk increases

e As macroeconomic factors (e.g., regional or
state recession) increase earnings volatility,
risk increases

e As Interest rate increases, risk increases










Utility Plant Schedule

Item Pu[r)caf:se g::\?i (I:ne Orig Cost
_and 1995 2000 15,000
Distribution 1999 2000 32,000
Generation 2000 2001 87,000
Transmission 2001 2002 18,000
Building 2001 2003 5,000
Building Improv. 2004 2004 1,500
Meters 2004 2004 600




$ervice Life

tem Purch | Date In Orig Ser_vice
Date Service Cost Life
Land 1995 2000 15,000 None
Distribution 1999 2000 32,000 25
Generation 2000 2001 87,000 50
Transmission 2001 2002 18,000 30
Building 2001 2003 5,000 35
Building Improv. 2004 2004 1,500 35
Meters 2004 2004 600 20




Annual Depreciation Expense
(Original Cost Divided by Service Life)

- Purch | Date In | Orig Serv Annual
Date | Service | Cost Life Depre Exp

Land 1995 2000 | 15,000 | / | None | = None
Distribution 1999 2000 32,000 / 25 = 1280
Generation 2000 2001 | 87,000 | / 50 = 1740
Trans. 2001 2002 18,000 / 30 = 600
Building 2001 2003 5,000 / 35 = 143
SUltelleg 2004 | 2004 | 1500 | / | 35 | = 43
Improv.
Meters 2004 2004 600 / 20 = 30




Calculating Annual Depreciation

e Dgfge 2000 | 2001 | 2002 | 2003 | 2004
2000 None 0 0 0 0 0
2000 | 1,280 | 1,280 | 1,280 | 1,280 | 1,280 | 1,280
2001 | 1,740 1,740 | 1,740 | 1,740 | 1,740
2002 600 600 600 600
2003 143 143 143
2004 43 43
2004 30 30
Total 1,280 | 3,020 | 3,620 | 3,763 | 3,836




Accumulated Depreciation

Accum Deprec Remain Plant 2005 Dep Exp
0 15,000 0
6,400 25,600 1,280
6,960 80,040 1,740
1,800 16,200 600
286 4,714 143
43 1,457 43
30 570 30
15,519 143,581 3,836

























